— 25B1386-59
v — Shenzhen VSEEI Semiconductor Co., Ltd
2SB1386 TRANSISTOR (PNP)

FEATURES

e Low collector saturation voltage

e Execllent current-to-gain characteristics

1.BASE

2.COLLECTOR

MAXIMUM RATINGS (Ta=25C unless otherwise noted) 3.EMITTER
Symbol Parameter Value Unit
Veeo Collector-Base Voltage -30 v SOT-89
Vceo Collector-Emitter Voltage -20 \%
VEeo Emitter-Base Voltage -6 \%
Ic Continuous Collector Current -5 A
Icp* Pulsed Collector Current -10 A
Pc Collector Power Dissipation 0.5 W
TaTss | Slorage Temperstire Range 55150 &
*Single pulse,Pw=10ms
ELECTRICAL CHARACTERISTICS (Ta=25C unless otherwise specified)

Parameter Symbol Test conditions Min Typ Max Unit
Collector-base breakdown voltage Vericeo | lc=-50uA,lg=0 -30 \Y,
Collector-emitter breakdown voltage V@riceo | lc=-1mA,lg=0 -20 \Y
Emitter-base breakdown voltage V@erEso | le=-50uA,lc=0 -6 \Y
Collector cut-off current Icso Veg=-20V,lg=0 -0.5 HA
Emitter cut-off current leso Veg=-5V,lc=0 -0.5 HA
DC current gain hre Vce=-2V,Ic=-500mA 82 390
Collector-emitter saturation voltage VcE(sat) lc=-4A,lg=-100mA -1 \Y
Transition frequency fr Vce=-6V,lc=-50mA,f=30MHz 120 MHz
Collector output capacitance Cob Veg=-20V,lg=0,f=1MHz 60 pF
CLASSIFICATION OF hge
Rank P Q R
Range 82-180 120-270 180-390
Marking BHP BHQ BHR
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